FEOEESRYE - £ No.1
1. wommsLrs,

(1) 3x2=

(2) 6 x3=

(10) 5 x (—4) =

(12) 2 x (~1) =

(14) 9 x (—9) =



2.

WOFHHERZ LIRSV,

(7) 4x2=

(9) 1x3=

(13) 2 x (—1) =

(15) 3 x (—5) =

(17) 5% (~1) =

(19) 1 x (—9) =

(10) 6 x (=2) =

(12) (—6) x 9 =

(14) 3x 3=

(16) 2 x 4 =

(18) (=1) x 5 =

(20) (—1) x 8 =



3. koatEs LS,

(1) (=5) x 92 = (2) 72 x (—5) =
(3) (=5) x 89 = (4) 66 x 5 =

(5) (=7) x (=5) = (6) 99 x (=59) =
(7) 660 x (—3) = (8) 205 x (—9) =

(9) (—66) x (—75) = (10) (—9) x (—872) =



4. wostmEzLis,

(1) 5+ (-1) = (2) 72+ (-8) =
(3) 6+2= (4) (~56) +~ 8 =
(5) 10 = (=5) = (6) 10 + (—2) =
(7) 18+ 6 = (8) 28+ (=7) =
(9) (=72) = (-9) = (10) (=10) =+ (=2)
(11) 25+ (=5) = (12) (=5) = (=5) =
(13) (=3)+(=1) = (14) (=4) +1=
(15) (—27) = (-3) = (16) (—49) =7 =
(17) 15+ (=5) = (18) (—54) = (—6)

(19) 6 +1= (20) 18 +3 =



5. komEr Lis,

(1) 190 +5 = (2) (~792) +9 =
(3) (—280) +5 = (4) (—348) +4 =
(5) (—400) + 8 = (6) 2520 + 7 =

(7) 1144 + 88 = (8) 6128 + (—8) =

(9) 3115+ 89 = (10) 5696 + (—8) =



0. wostms L s,

(1) (—4) xTx4= (2) 4x2x (=9) =

(3) (—20) x (=7) + (—4) = (4) (—63) x7T+7=
(5) (~72) + (—8) x 2= (6) (—35) +7x4=
(7) 32+ (—8) +2= (8) 448 + 8+ (—8) =

(9) 96 ~ (—8) ~4 = (10) (—=135) = (-3) =9



/.

WOFHHERZ LIRSV,

(1) (=54) + (=6) x (=7)

(3) Tx4d+(-2) =

(5) 16+ 4+ (~2) =

(7) (—40) +5+(-2) =

(9) 56 =7 x (=3) =

(4) 16 =2 x (=7) =

(6) (—6) x 7Tx5=

(8) 729+ (—9) +(—9) =

(10) 2 x (=7) x 7=



ERO#HTHEEYE - £ No.l

1. wommsLrs,

(1) 3x2= 6

(3) (-6)x9= —54

(13) 4 x (=5) = —20

(15) (=5) x (-3)= 15

(17) (=9) x (-5) = 45

(19) (-8) x (—7) = D6

(12) 2x (-1)= —2

(14) 9 x (-9)= —81

(16) (—=2) x (=5) = 10



2.

WOFHEZ L7z X0,

(1) (—=8) x (=5) = 40

(7) 4x2= 8

9) 1x3= 3

(15) 3x (=5) = —1H

(17) 5x (=)= —H

(2) (=9) x (=3)= 27

4) (-3)x(-1= 21

(12) (=6) x9= —54

(14) 3x3=9

(16) 2x 4= 8



3.

WOFHEZ L7z X0,

(1) (-5) x 92= —460

(3) (=5) x89= —445

(5) (=7) x (=5)= 35

(7) 660 x (—3) = — 1980

(9) (—66) x (—75) = 4950

(2) 72 x (-5) = —360

(4) 66 x5= 330

(6) 99 x (=59) = —bH841

(8) 205 x (—9) = — 1845

(10) (=9) x (—872) = 7848



4. wostmEzLis,

(1) 5+ (-1) = (2) 72+ (-8) =
(3) 6+2= (4) (~56) +~ 8 =
(5) 10 = (=5) = (6) 10 + (—2) =
(7) 18+ 6 = (8) 28+ (=7) =
(9) (=72) = (-9) = (10) (=10) =+ (=2)
(11) 25+ (=5) = (12) (=5) = (=5) =
(13) (=3)+(=1) = (14) (=4) +1=
(15) (—27) = (-3) = (16) (—49) =7 =
(17) 15+ (=5) = (18) (—54) = (—6)

(19) 6 +1= (20) 18 +3 =



5. komEr Lis,

(1) 190 +5 = (2) (~792) +9 =
(3) (—280) +5 = (4) (—348) +4 =
(5) (—400) + 8 = (6) 2520 + 7 =

(7) 1144 + 88 = (8) 6128 + (—8) =

(9) 3115+ 89 = (10) 5696 + (—8) =



0. wostms L s,

(1) (-4 x7Tx4= —112 (2) 4x2%x (=9) = —72
(3) (=20) x (=7) = (-4) = —35 (4) (-63)x7+7= —63
(5) (-72) = (-8)x2= 18 6) (—35)=~7x4= —20
(7) 32+ (—8)+2= —2 (8) 448 + 8+ (—8) = — 1T

9) 96+ (—8) +4= —3 (10) (=135) = (=3)+9= O



/.

WOFHEZ L7z X0,

(1) (—=54) + (=6) x (-7) = —63

(3) Tx4+(-2)= —14

(7) (—40) +5+(-2)= 4

(9) 56 +7x (=3)= —24

(4) 16-2x (-7)= —O6

6) (<6)x7x5= —210

(8) 729+ (-9)+(-9)= 9

(10) 2x (-T)x 7= —98



